IT11-110

2005

RZZPiXCi
2.1

R =["F-a0-

P 5

50gal 350gal

4)
FL
L
F=1-F
0.5z)dz -
F=0
5 P 10

ARSI IEIE RS (2007, 3)

o
1km
2)
NS
; 1)
G
Ex
3) 2
100y
101
102
Py
o3l L
FL=R/L 1 0 200 400 600 800 1000
. (gal)
3
(F. <1.0)
-1 C
(F, >1.0) ot )

97.137 92.1 10.622

—577-



ITI-110
10 Pp
4
2.2
(
Co
5
Py K(PL)
4
Co
-6
3
1)
2)
3)
4)

20

Co)

2) P

, 1998

Co

P

3)

20

3)

Py

35

1))
2)

K(Pp)

)

2005.

—578-

35 P

Co

P

,2005.

vol.28-4 pp.23-29

ARSI IEIE RS (2007, 3)

(9ab)
PL

100

80 -

60 -

40 -

20

RO
T L !

300

(O e e e e e e e
0 50 100 150

200 250

(gah)

350

-6
0.016

0.014

0.012

0.008

0.006 |-

0.004

1980.



